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Semester End Examination November-December 2017

E.Y.B.A (Adv) SEMESTERI
UAGIEEECO01- Micro Economics I
Date: 15.11.2017 . Marks: 60
Time: 10.00 am to 12.00 pm

WNote: Figures io the right indicate marks.
Draw diagrams wherever necessary

Q.1 Attempt the following (15)

1) When Total Utility of a commodity is rising, Marginal Utility is -
a. Positive b. Negative c¢. Zero d. Increasing

2) Positive economics is concerned with
a. What ought to be b, Whatis  ¢. What will be d. All of these

3} Production function is the physical relationship between
a. labour and capital

b. labour and land

¢. Inputs and output

d. All of the above

4) Law of variable proportions is a

a. Long-run production function b. Laws of returns to scale

¢. Short-run production function d. None of the akove

5) Two Indifference curve cannot intersect each other. - True/False
6) Higher the indifference curve higher is the level earning. True/False

7) For complimentary goods, the cross elasticity of demand 1s
a. Positive  b. Negative c. Zero d. None of these

8) Comparative static analysis deals with

a. Two static equilibriums b. On static equilibrium
c. Path between two equilibrium point d. None of these

9} Economics is the study of

10) Income elasticity of demand is defined as

11) Which of the following is a basic postulates




a. [rrationality b. imperfect competition c. Ceteris paribus 'd. standard of
living

12) Stage of the law of variable proportions is also called economic region of
production. '

a. Stage I b. Stage [l

c. Stage II d. None of the above

13) Convexity of Indifference curve is attributed to

a. Marginal Rate of Technical Substitution

b. Marginal Rate of Substitution

¢. Dirminishing Marginal Rate of Technical thqtz‘futton
b. Diminishing Margmal Rate of Substitution

[4) Ordinal utility analysts is also known as

a. Gossens second law b. Cardinality approach
¢. Indifference curve analysis d. Rationality approach
15) Demand curve for a normal commodity has slope.
a. Negative b. Positive ¢. parallel to x axis d. parallel to y axis

Q2. “MUx/MUy = Px/Py” explain with the help of indifference curve and budget hine.  (15]

OR
Q2. Explain the concept of least cost combination. (15)
(3. What do you understand by Law of diminishing Returns? {(15;
OR
Q3. What is price elasticity? Explain its methods of measurement and types. (15
Q4. Attempt ANY TWO of the following: (15)
a. Concept of Budget line
b. Properties of indifference curve
c. Static analysis
d. Postulates of Economics
———— K P et
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Q-1 Attempt the following - %
1 Consumption function expresses the relationship between consumptionand
2 Law of market can be attributed to
A].B.Say B A.C.Pigou C T.R.Malthus D Ricardo
3 Marginal propensity to consume 7
A Show how much income changes when consumption falls
B Is always greater than one
C Will be equal to one if the MPS is equal to one
D shows the proportion of an extra pound of income that is spent on consumption.
4 Aggregate demand is an economy trading internationally with a government sector can
be written as
A AD=C+]
B AD= C+I+G
C AD= C+I+G+X+Z
D AD+ C+[+G+X-Z
5 A-rise in autonomous investment can result in ‘
A’ Full Employment
B Lower expected future profits
C More expensive capital goods
D All of the above
6 is the root cause of economic problem.
A over supply B Scarcity C under consumption Divestment
7 Which statement does not relates to macro economics

A price of onion in Anand market

B Profit rate is high in Arvind mills .

C salary of teachers in private school Xislow
D All the above.
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Q-2

Q-2
Q-3

Author of “ General Theory of Employment, Interest and Money” is
A Alfred Marshall

B Prof. J.M.Keynes

C Bounding

D David Ricardo

Which of the following can be treated as a flow concept

A Number of my shirts '

B My total wealth

C My monthly Income

D Money supply

A {s nota method of measuring National Income
A Income B Expenditure CSaving D output

Government investment in social sector is
A Autonomous Investment
B Induced Investment
C Industrial Investment
D None of these - :
Money market is a constituent of economy.
A Backward B Closed C Developing D Modern
of the following are factor influence the consumption function.
A Disposable income B Wealth C Expected Future Income D All of these
In which economy is structural unemployment mainly observed
A Developed B Undeveloped C Developing Under developed

If marginal efficiency of capital exceeds rate of interest, investment in the econony wili

A Increase B Remain constant C Decrease D Become Zero
What are the factors affecting consumption function?
OR
Examine classical theory of market
Define Macro Economics? Explain Scope of Macro Economics
OR
What do you mean by Effective demand? How is it determined?
Attempt any two of the following
Distinguish between APS and MPS
Distinguish Autonomous and Induced Investment
Investment multiplier
Marginal Efficiency of capital
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Q.1. Attempt the Following Multiple Choice Questions. _ 15 Marks

1. With the arrival of Restoration, there was violent reaction against the ' restraints.

a. Classicai b. Neo-Classical ¢. Puritan ' d. Victorian

2, The Conquest of Granada was written by

a. Miltoa b. Dryden c. Pope d. Congreve

3. The ' party, during the time of Charles- 11, wanted to limit the royal power in the
interest of the people and parliament.

a. Whig b. Tory ¢. Republican d. None of these

4. Under the influence of Comedy of Manners and Heroic Plays were written.

a. Roman b. American ¢. German d. French

5. The period of is the middle age of Renaissance.

a. Preparation b. Elizabethan c. Jacobean d. Caroline

6. can be considered as the prologue to Renaissance,

a. Utopia b, Areadia c. New Atlantic d. Fairie Queen

7. Which of the following is not written by Marlowe? ,

a. Tamburlaine b. The Jew of Malta c. Edward Il d. Areadia

3. Endymion is a comedy by .

a, George Peele b. John Lvly ¢. Robert Greene d. Thornas Nash

9. Bacon is known as father of English .

a. Poetry b, Prose ¢. Parody d. Tragedy

10. Pre-Shakespearcan dramatists are known as : :

a. Medieval Dramatists b. Chaucerian Dramatists

c. University Wits d. Wits of the age

11. The name Puritan was at first given to those who advocated certain changes in the form of
worship of the reformed under Elizabeth. _

a, English Literature b. English Manners

c. English Culture : d. Englhish Church

12. leads the school of Metaphysical poets.

a. Donne b. Herbert ¢. Herrick d. Carew

13. Which of the following poem is not written by Milion?

a. Lycidas b. Comus c. L’Allego d. The Flea




14. The represented the civilization of France which wag the literary centre of all
BEurope.

a. Saxons b. Normans c. Angles d German

I5. 1s an immense work of one hundred and twenty-eight tales, which covers the
whole life of England, through 32 characiers,

a, Fairie Queen b. The Canterbury Tales . Testament & Midas

Q.2. Expound the follo wing statement in light of your reading of “The Puritan Age”.
“Puritan movement in literature may be considered as the second and greater Renaissance,
marked by the rebirth of the moral nature of man which followed the intcliectual awakening
of Burope in the fifteenth and sixteenth centuries.”

OR i5 Marks

Q.2. Elaborate the Social, Reﬁgious, Economic and Political background of the age of Chaucer
describing the liferary tendencies of his time,

Q.3. How far Elizabethan age can be considered as an age of Hurnanism, Naticnalism,
Adventure, Enthusiasm, Independence and the age of Social, Political, Religious and
Cultural Contentment? Elaborate with the Ullustrations of Elizabethan Literature.

OR 15 Marks

Q.3. Elucidate the Age of Restoration and its literary richness in detajl.

Q4. Attempt ANY TWO short notes. 15 Marks
1) English Renaissance

2) Contributicn of University Wits 1o Drama

3) Puritan Poetry

4) Christopher Marlowe and his Works

—— Y —
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Q:1 Choose the correct option from the multiple choice questions. [15]
{Each Question Carries One Mark)
1. Who has written Coverly Papers?
A, John Ruskin B. Samuel Johnson C. Addison and Steele D. A G Gardiner
2. Which literary work made the dominant argument for laissez-faire capitalism during
Ruskin’s time?
A, 1. 8. Mill’'s The Principals of Political Economy
B. John Ruskin’s Unto This Last
C. Adam Smith’s The Wealth of Nations
D. Tom Paine’s Common Sense
3. th; is the author of the Mrs. Battle's Opinions on Whist?
A. Samuel Pepys B. John Ruskin C. A.G.Gardiner D. Charles Lamb
4. 'Who is known as the Alpha of the Plough?
A. Charles Lamb B. A.G. Gardiner C. John Ruskin  D. Samuel Pepys
5. Which is the biggest cause of misery in the world for women according to Mary
Wollstonecraft? |
A. Lack of Education B. Lack of Common Sense C. Adventurous D. None
6. Who was the chief secretary of Admiralty under both King Charles II and King James I1?
A. John Ruskin B. A G Gardiner C, Samuel Pepys D. Charles Dickens
7. Who is the writer of Chronicles?
A. John Wycliffe B.Roger Bacon C.Tom Paine D.Raphael Holinshed
8. Who was the chairman of National Anti-Sweating League?
A. Thomas Browne B. A.G. Gardiner C.John Milton D. James Boswell
9. Which work of Samuel Johnson comprises biographies and critical appraisals of 52
poets?
A. Lives of The Most Eminent English Poets  B. Essay of Elia A
C. Aereopagetica D. The Delightful

10. Which essay of A. G. Gardiner provides the reference of M, Duhamel of medical

Page | 1
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B expefiénces durmg the war than the'_c_:as'.é' of th.c' man whodled of the pi;_nple on his ﬁdse?_
A. The War Lords  B. On Superstitions -C. On Cou}dge D On Pleasant Sound
11. Who thinks that men are so perfectly rational that women should follow their guidance in
Vindication of The Rights of Women?
A. Shakespeare B. Dr. Gregory C. Mary Wollstonecraft D. Roussean
12. Which is the first assumption of Mary Wollstonecraft in her essay, Vindication of The
Rights of Women?
A. Power of Reason B. Power of Virtue C. Power of Qualities D. Power of
Knowledge
13. On which subject Unfo This Last was written by John Ruskin?
A. Science B.Mathematics C. Account D. Economy
14. Who has written an essay, On Courage?
A. Samuel Pepys B. A.G. Gardiner C. Charles Lamb D. John Ruskin
15. Who was the editor of John Ruskin’s Cornhill magazine? 7
A. John Lock B. William Makepeace Thackeray C. Charles Dickens D. T.S.Eliot

Q:2[A] How far the diary of Samuel Pepys is useful to know the various incidents . [15]

0:3

Q:4

during his life span? Discuss any two major incidents mentioned by Samuel

Pepys in his diary writing.
OR
[B] Give the detail note on On Losing One’s Memory and On Pleasant Sound by A. [15]
G. Gardiner.
[A] Critically evaluate A Vindication of The Rights of Woman by Mary [15]
Wollstonecraft,
OR
[B] Give a detailed outline on Unto This Last by John Ruskin [15]
Write any two short notes: ‘ ' [15]

1. What is an Essay?

2. On Cats and Dogs

3. The Veins of Wealth

4. Mrs. Battle’s Opinions on Whist

-_-__% .....
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Q1 Multiple Choice Questions (Fach carry ohe mark) (15)

1. Mumbai Samachar was started in the year,

2.

10,
11.

12

13.

a. 1982 b. 1822 ¢. 1823 d4.1922
tndia has more than 1600 dialects.
a. True b. False

. “Maharastra Times” published in

a. Hindi b English ¢. Marathi d.Konkani

The Radio club of Bombay broadcast its first programme in,
a. July 1923 b. June 1923 ¢. July 1934 d. June 1924
Who was the first Controller of Broadcasting in India?
a. BV Keskar b. Lord Linfithglow c. Lionel Fielden ¢. Narendra Sharma
In Radio, AM stands for

a. Amplified Modulation ¢. Amplitude Modulation

b. Active Modulation d. Alternate Modulation

India has more than 25 official languages
a. True b. False

Gujarat Samachar formerly known as Prajabandhu

a. True b. Faise

indian Penal Code (IPC) was adopted in the fime of Lord Canning
a. True b. False

in which year Doordarshan was de-linked from AIR?

a. 1969 b, 1976 ¢. 1942 d. 1957

ABC stands for Audit Bureau of Circujation Ltd.

a. True b.False

Who is the editor of Indian Express (Gujarat)?

a. Vivek Dave b.Shyam Parekh ¢. Leena Misra d. Bharat Desai
Navbharat Times” published in
a. Hindi b English ¢. Marathi d. Konkani

14. Who was the first Information & Broadcasting Minister of india?

a. BV Keskar b. Lord Linlithglow ¢. Lionel Fielden d. Sardar Patel

15. Bombay Herald was started in the year,

a. 1788 b. 1822 ¢. 1823 d.1722




Q2 Write in detail: The growth of English dailies before independence in India. {15)

OR :
(2 Describe growth of Radio in post-emergency era. {15}

Q3 “Journafisim: From Paid News fo Fake News”: Prepare a detall story on the role
and responsibilities of press in contemporary era (15)
_ OR
Q3 Do you think foreign direct investment in broadcasting, particularty in Radio,
will ruin the plurality of Indian society? . Give logic to your arguments,

(15)

Q4 Prepare a report on different services of All India Radio. (15)
~ OR

Q4 Discuss the language scenario in india (15)

e A
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Question 1. Multiple' Choice Questions. (One Mark Ezch) (15 Marks)

i. is the book by Marx and Engels?
a) Communist Manifesto  b) A Theory of Justice ¢) Social Contract d} Marxism Basics

2, The Patriarchal theory explains that the state originated from the patriarchal family or the family in which
the “Pater” or father was the head.

a) True b) False
3. According to theory, stafe is established and governad by God himself. God may rule the stais
directly or indirectly through some ruler who is regarded as an agent of God.

a) Sociel Cantract b) Force ¢) Divine Origin d) None of the Above
4, political theory talks about modes of production, class division, class struggle, property relations,
revolution and state as an instrument of class domination,

a) Matriarchal ) Patriarchal c) Reaiist d) Marxist

5. Where did the Glorious Revolution of 1688 take place?
a) UK b) Russia ) India d) USA

6. Plato, Augusiine and Arisiofie are thinkers of Age.
a) Romarntic b} Renaissance ¢) Classical d) Modemn

7. hurisprudence is a school of Political Thousht, )
aj True b) False

8. The goal of theory is to enhance our understanding of the social reality and create conditions for good life.
a) True b) False

9. Who was condemned to death by the rulers of Athens?
a) Sophists b} Socrates ¢) Pythagoras d) Locke

10. Liberal-individualistic political theory was challenged by and their subsequent followers in the
later haif nineteenth century by their ‘scientific socialism’.

a) Mary b) Engels cyBothaand b d) Neither a nor b
H A fundamental feature of the is social insurance, a provision common to most advanced
industrielized countries.

a) Welfare State b) Democracy ¢) Authority d) World Power




12, Which of these is a proponent of Divine Origin Theory?
a} Monarchy is bereditary and it is the divine ¢ ght of a king that it should pass from father to son
b) Monarchy is divinely ordained and the king draws his authority from God
¢} The king is answerable to God alone
d}y Al of the Above

13. City-States were a feature of i
a) India b Greece c) Japan d} Australia

1. Who among these was a supporter of Social Contract Theory?
&) Thomas Hobbes b} John Locke ¢} Rousseau d) All of the Above

15, Which of these is an aspect of Welfare State?
a) International Cooperation  b) Social Equality ¢) Cultural Development d) All of the Above

<
2

Expand on the Major Schools of Political Theaory,
OR (15 Marks)

“T'he transition from primitive society to a modern state is a long and cheered history” - Discuss.

(.3 Discuss the Major Theories on the Origin of the State.
OR {15 Marks)

“It was at the Peace of Westphalia in 1648 that Europe consolidated its long transition from the
Middle Ages to a world of sovereign states” - Elzborate.

Q. 4. Short Note (Attempt Any TWO) {15 Marks)

a. “A welfare state is a state which provides for its citizens a wide range of social services.” Elaborate.
b. What is the need 1o study the History of Political Thought?
¢. Marxist theory of state, besides liberal state, is perhaps the most prominent theory.

d. What are the basic characteristics of Political Theory?

y—
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SARDAR PATEL UNIVERSITY

FE.Y.B.A. (ADVANCED) (FIRST SEMESTER) (CBCS) EXAMINATION 2017
Date: 16 November, 2017; Thursday
Time: 10.00 AM t0 12.00 PM
UAO1EEPLO2: Indian Government and Politics — 1

Total Marks: 60
Q. 1. Multiple Choice Questions. (One Mark Each) . {15 Marks)

1. In 1942, the was sent to India from Great Britain under the leadership of Sir Stafford Cri ripps.
a) Minto Reforms Committee  b) Cripps Mission  ¢) Indian Committee d) None of the Above

2. Right to Property is no longer a

a) Legal Right b) Natural Right ¢) Fundamental Right  d) None of the Above
3. The total number of judges in the Supreme Court is

a) 26 b) 31 c) 09 d) 16
4. Which of these is a session of the Indian Parliament?

a) Budget b) Moensoon c) Winter d} All of'the Above
5. Directive Principles of State Policy is in of the Indian Constitution.

a) Part | b) Part I1I ¢y Part vV d) Part IX

6. The Prime Minister is the Head of the .
a) State b) Republic ¢) Government d) None of the Above

7. Which of these was a word later added to the Constitution’s Preamble?

a) SOVEREIGN b} DEMOCRATIC ¢) REPUBLIC d) SOCIALIST
8. Article 21A of the Indian Constitution is the .
2} Definition of State b) Right to Protection of Life and Personal Liberty
¢) Right to Education d) Abolition of Titles
9. Part IT], the Fundamental Rights of the Indian Constitution includes Articles
a)l2to 35 b) 101019 c) f1to36 d)16to 19
10. Indiahas __ Statesand _ Union Territories.
a)29; 10 b) 28; 7 c) 30; 5 dy29; 7

11. There are five writs, namely Habeas corpus, Mandamus, prohibition, certiorari and Quo-warranto; are
a part of .
a) Article 31A b) Article S1A c) Article 32 d) Article 55

12. The Supreme Court judges are appointed to their positions by .
a) Prime Minister ~ b) Minister of Law c) Gaovernor d) President

CP.Tood
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13, Which of these would be a reason for the Fundamental Duties to be considered important?

a) The fundamental duties enumerated in Article 51A constitute a constant reminder to the
citizens that they have duties in building up a free, egalitarian, healthy and responsible society.
These are expected 10 act as damper to reckless and anti-social activities on the part of some

~ individuals.
b) Environmental pollution has become a great cause of concern, not only for Indian, but for the
entire hurnanity. Unless, we all take the pledge to keep our environment free from pollutants,
there remains the threat of undesirable consequences.
¢) India is a multi-racial and muiti-reli gional country. Such a vast democratic country like India
can prosper only when the citizens of this country respect its integrity and promotes cultural

harmony.
d) All of the Above

14. Which of these was not a part of the Preamble in 19507 :
a) UNITY b) INTEGRITY ¢) LIBERTY dy EQUALITY

15. The current strength of the Lok Sabha is .
a) 545 b) 552 ¢) 238 d) 250

Q.2  Discuss the Article S1A of the Indian Constitution in detail.
OR (15 Marks)

Elaborate on the important ideas and words in the Preamble to the Constitution of India.

Q.3  Write an essay on the Indian model of federalism as a quasi-federal :";ystem.
OR (15 Marks) -
The Prime Minister is the First among the Equals ih the Council of Ministers. Discuss.
Q. 4. Short Note (Attempt Any TWO) (15 Marks)
4 The Indian Constitution has a variety of sources. Discuss them.
b. Write a Short Note on the Constitutional Assemblj which made the Constitution of India.
c. There are Five Writs in the Constitution of India. Briefly describe each.

d. How is the President of India elected? What are the conditions of eligibility of the President of
India?

J—
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UAGIEEPSG1: BASIC PSYCHOLOGICAL PROCESSES-T

Wednesday, 15t November, 2017 Time: 10.00 to 12.60 p.m.

: Total Marks: 60

(}.1 Multiple choice guestions | 15marks

1. The cones of the retina
a. are densely packed in the periphery of the retina.
b. are specialized for black, white, and gray sensations.
c. function best in bright fight. ‘

d. are responsible for night vision.

2. Anincomplete figure will be seen as a complete one, this is called [aw of
a. Closure h.Good form c.similarity d.Proximity

3. The endocrine system
- a. is the only communications networi in the body.
b. depends on electrical messages for communication.
¢. secretes hormones into the blood stream for communication.
d. secretes hormones into the exocrine ducts for communication.

4, Carriers of heredity traits are cailed
a. chromosomes h. genes _ - Cozygete d. none

5. What is the first process in perception?
a. symbolic process b, Effective process  c. receptor process  d. none

6. The minimum amount of energy needed for a sensation to occur is catled
a. the absolute threshold, b. a transducer.
¢. data reduction. d. minimal level.

7. Human development is product of join contribution of both
a. parents and teachers b. society and cultural factor
¢. heredity and environment d. mother and chiid

8, The part of the eye where the optic nerve leaves the eye is called the

a. lens, b. retina. ¢. blind spot. d. pupil.
9, The role of the nervous system is to relax the body and return it to a lower level
of arousal.

a, sympathetic b. parasympathetic ¢ endocrine d. sematic

.10, Which of the following is NOT a part of a neuron?

2. axon b. axon terminal C. synapse d. soma
11. The regulates the functioning of other glands.

a. pituitary gland b. pineal gland ¢. thyroid gland d. adrenal gland




12. All of the following are not principles of perceptual organization except principle of

a. Cbservation and experience b. Simitarity
c. Familiarity d. Distance

13. The cell body of a neuron is also cailed the

a. dendrite. b. axon. c. myelin, d. soma.

14. Information picked up by the body's receptor cells is termed

a. cognition b. perception. c. adaptation. d. sensation,

15. Which of the following is NOT controlied by the hypothalamus?

Q.2

Q.2.

Q.3.

Q.3

Q.4.

a. sex b. eating and drinking

¢. temperature control d. posture

Describe the structure of the eye and explain visual sensation. (15)
OR

Explain the role of endocrine system in physical and mental growth.

Explain different studies on heredity and environment. {15)
OR
Define perception and explain nature of perception,

Write Short Notes {Any Two) (15)
1. Perceptual constancy

2. The neurcn

3. Receptors and sensory codes

4, Autonomic nervous system
R CE O
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UAO1EEPS02: SOCIAL PSYCHOLOGY-1

Thursday, 16" November, 2017 Time: 10.00 to 12.00 p.m.
: Total Marks: 60
Q.1 Multiple choice guestions 15marks

1. The degree of attraction among group members relates to the dimension of
a.Compatibi!ity b.Structure c.Cohesiveness d.Conformity

2. Bystanders who are in a positive mood are nKe:y to interpiét an ambiguous situation as
a. Non emergency  b.Altruistically c.An emergency d.Prosocially

3. The first task in psychology is to carefully observe and objectively describe:
a. Animals b.Social Institution  c.Behavior d.Symptoms of abnormality

4, Physical proximity increases attraction because it
a. Increases frequency of contact  b.Inhances social comparisons.
¢, Establishes common norms, d. Reduces development of incompatible roles’

5. Negative attitudes that are tinged with fear, hatred, or suspicion is a definition of
a.Prejudice b.Authoritarianism
~c.Discrimination. _ d.Displaced aggression

6. Which of the following techniques would be the most effective way of investigating the
relationship between the political preferences and the age of Indian citizens?

a. An experiment b. A case study
c. A correlational study d. Participant observation

7.. mvolves behav;or that is motwated by an unselfish concern for others’ welfare.
a. Prosocial behavior b.Hersism c.Ajtruiem, d FMﬂ'aﬂ'-lr iny

8. One of the most prevalent norms directs us to return to others favors, goods, and services
that they offer us. This is the norm of: .

a. Commitment “h.Obedience ¢.Friendship d.Social reciprocity
9. In an experiment, the variable being measured is called the variable.
a. Control b.Independent c.Experimental d.Dependent

10. According to the text, people are likely to help when
a. Other people are around. b. They feel happy.
c. They are depressed. d. They are well educated.

o, T. 0.)




" 11. A learned disposition to respond to people, objects, or institutions in a positive or negative
way defines
a. Cognitive dissonance b.Socialization c.Attitudes d.Stereotypes

12. Social position in a group determines ones
a.Status b.Auto kinetic norms c.Role d.Usefulness

~13. Alap is a student and a very good artist, a member of a youth club; the roles that shape his
behavior are called roles.

a.Achieved b.Ascribed c.Ascertained . d.Actualized

14. Which of the following moods is most likely to motivate aitraism?
a. Depression b.Grief c.Guilt d.Anger

15. A relationship may be strengthened by

a. Negative messages. b.Withdrawal. c. Relatives.  d. Similar beliefs
Q.2.What is attitude? Describe attitude formation in detail.- .15
Or

Q.2. Define Social psychology and Explain characteristics of social psychology.

0.3.Describe factor affecting romantic breakups and dark sides of close relationship. 15
7 Or
Q.3.Explain experimental and co-relational method in detail.

Q.4 Write down any two short notes of the following. ' 15
1. Prosocial behavior
2. Internet and Relationship
3. Cognitive dissonance theory
4, Frienship

Y Yo X



Se

GEAT NOw e

SARDAR PATEL UNIVERSITY

B. A. (Advance English Medium)
Ist - SEMESTER UNDER (CBCS)
UAQ1FECAOQ2 : Basic Computer Applications

(]

No. of Printed Pages: 2

Date:8/11/2017 Wednesday Time : 10:00 AM to 12:00 Noon Max Marks : 60
Q:1  Write answers of following multiple choice questions : [15]
[01] The full form of ALU is :
(A) Arithmetic Language Unit (B) Arithmetic and Logical Unit
(C) Array Logic Unit (D) Array Language Unit
[02] The physical component of computer system is called ___
(A) Software (B} Hardware
(C) Firmware (D} None ofthese
[03] Which of the following is example of software?
{A) MSWord (B) Keyboard
(C) Mouse (D) Monitor
[04] Which of the following is example of hardware?
(A) Keyboard (B) Mouse
(C) Printer (D)  All of these
[05] The base of octal number system is .
(A) 2 (B) 8
(C) 16 (D) 32
[06] The combination of AND gate and NOT gate is known as
(A) AND ' (B) NAND
(€} NOT (D) NOR
[07] Inhexadecimal number system, the value of A is in binary.
(A) 1000 | (B) 1010
(¢} 1011 (D) 1111
[08] The full form of LAN is
(A) Long Area Network (B) Large Area Network
(C) Local Area Network (D) Local Array Network
[09j Which of the following MS DOS command is used to remove the directory?
() «d (B) rd
(C) md (D) ren
[10] Which of the following is example of operating system?
(A} Window XP (B) Window 7
(C) MSDOS (D) All of these
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[11] The is a step by step process to solve any problem.

(A) Flowchart (B) Process
(C) Algorithm (D) DFD
{12] The graphical representation of algorithm is known as
(A} Algorithm (B} Flowchart
(C}) Program (D} None of these
[13] The is used to translate high level language to machine level language.
(A) Compiler (B) Operating System
(C}) MSWord (D) MS Excel
[14] Perform: (75)s={ J2
(A) 100100 (B) 111101
(C) 110011 (D} 11100606
[15] Which of the following is example(s) of web browser?
(A} Internet Explorer (B) Firefox Mozilla
(C) Google Chrome (D) All of these

Q:2. What is Computer? List Input and Output Devices. Explain Keyboard, Mouse,
Monitor and Printer in detail.

OR

Q.3 What is Transmission Media? Explain Types of Transmission Media in detail.

Q2 What is Network? Explain LAN, MAN and WAN in detail.
OR
Q:3 [A] Whatis Logic Gate? Explain NAND Gate and NOR Gate in detail.
[B] Perform the following conversion :
(1) (962)10 = (?):
(2) (7234)e = (7)
(3) (A34Chis = (7)2

Q:4 Attempt any three.
[A] System Software and Application Software
[B] Functions of Operating Systems
[C] Database Management System
[P] Symbols used in Flowchart.

[15]
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Q.1. Attempt the Following Multiple Choice Questions. 15 Marks

1. Which of the following is not a disadvantage of a Written Communication?

a. It takes longer time to draft and convey a written reply

b. 1t will not work in a place where time is of vital importance

c. It gives ample of time to receiver to analyse the message

d. It cannot be supplemented with non-verbal gestures and posture

2. Personal appearance, facial expression, postures, gestures, eye contact, proximity and touch
are all signals. .

a. Verbal b. Non-Verbal c. Formal d. Informal

3. If one is bobbing the shoulders, fidgeting with notes; jingling coins, moving constantly or
staying glued are ‘

a. Postures b. Gestures ¢. Proxemics d. Chronemics

4. Which of the following zone covers the radius of 4 feet to 12 feet.

a. Intimate b, Personal c. Public d. Social

5. Limited Vocabulary, Emotional Qutburst and Cultural Variations are barrier.

a. Infrapersonal b. Interpersonal ¢. Extrapersonal d. Organisational

6. Which of the following is an example of Extrapersonal Communication?

a. When you begin to ‘feel hot’ b. When a parrot responding to greetings

c. When a senior orders to subordinate 'd. When sharing information among people

7. When a sales manager communicates directly with the Vice President, who is not onlyina
different division, but also at a higher level in an organization is

a. Diagonal b. Horizontal c. Upward d. Vertical
8. Downward and Upward Communication are subtype of | communication.
a. Horizontal b. Vertical ' ¢. Diagonal d. Crosewise
- 9. All communication in an organization other than that for business or official purpose is called
communication,
a. Internal b. External c. Operational ~ d. Personal
10. Which of the following is not concerned with Kinesics?
a. Gesture b. Posture ¢. Bye Contact d. Time management
11. When the doctors came they said Mrs. Mallard had died of heart disease of
a. Sadness that kills b. Joy that kills
¢. Emotional Shock that kills d. Unknown reasons
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12. “Free Body and soul free!” kept whispering in The Story of an Hour.

a. Josephine b. Kate Chopin ¢. Mrs. Mallard d. Mr. Mallard
13. Who is Mrs. James Dillingham Young?

a. Josephine b. Della c. Brently d. None of these
14. Jim sold the watch he got from his father because he .

a. does not like the watch b. wanted to buy gift for Della

¢. does not want to repair the watch d. need not the watch

15. Defects in instruments of communication can create barrier,

a. Physical b. Cultural c. Psychological d. None of these

Q.2. Why does Jim at the end of The Gift of Magi say “Let’s put our Christmas presents away
and keep ‘em a while. They’re too nice to use just at present”? Discuss in detail sitnation at
end with reference to your reading of the story.

OR 15 Marks
Q.2. Elaborate the Intrapersonal and Interpersonal Barrier in detail.

Q.3. What are the various modes of communication and flows of communication in an
Organisation? Enlist and Expound.

OR : 15 Marks

Q.3. Comment on the Communication cycle and the levels of communication.

Q.4. Attempt ANY TWO short notes. 15 Marks
1) Physical Barrier

2} Chronemics

3) Mrs. Mallard’s situation after listening bad news

4) Non-Verbal Communication
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